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QUESTION 1

A batch program runs every night to raise invoices. The next day these invoices are posted out to customers by a clerk.
Customers pay the invoices with cheques. The cheques are then banked by a clerk. In this scenario, which of the
following represents a business event? 

A. System prints invoices. 

B. Clerk sends invoices to customers. 

C. Customer\\'s cheque is received. 

D. Clerk banks the cheque. 

Correct Answer: C 

 

QUESTION 2

Which of the following statements about a BAM is correct? 

A. The BAM is concerned with who carries out the activities. 

B. The BAM is concerned with where activities are carried out. 

C. There will be one BAM for each business perspective. 

D. The BAM is an AS-IS model of the real world. 

Correct Answer: C 

 

QUESTION 3

Which of the following is a primary activity in the value chain? 

A. Human Resources (HR). 

B. Procurement. 

C. Information Technology (IT). 

D. Marketing and Sales. 

Correct Answer: D 

 

QUESTION 4

What stage of the V model provides the test criteria for user acceptance testing? 

A. The business needs. 



B. The requirements. 

C. The designed solution. 

D. The developed solution. 

Correct Answer: B 

 

QUESTION 5

An entity type is a template for its entity occurrences. Which of the following is a template for objects? 

A. A class. 

B. A use case. 

C. An operation 

D. An actor. 

Correct Answer: A 

 

QUESTION 6

The term \\'happy day\\' is often used in the context of which of the following investigation techniques? 

A. Protocol analysis. 

B. Scenarios. 

C. Activity Sampling. 

D. Document analysis. 

Correct Answer: B 

 

QUESTION 7

What is the first stage of the waterfall systems development lifecycle? 

A. Plan. 

B. Analysis. 

C. Feasibility Study. 

D. Strategic Vision. 

Correct Answer: C 

 



QUESTION 8

Which of the following statements is TRUE? 

A. Improving the business process is concerned with removing problems identified in the AS- IS process. 

B. Introducing bottlenecks is an important principle of business process re-design. 

C. It is not permissible to show decision diamonds on a swim-lane diagram. 

D. Processes cannot be improved by changing the sequence of activities alone. 

Correct Answer: A 

 

QUESTION 9

"The system should allow a user to enter customer details and select appropriate customers for a mailshot". What is
wrong with this requirement? 

A. It consists of two requirements which should be separately defined. 

B. It contains the word "should" which must not be used in a requirement. 

C. It should be specific about the user it refers to. 

D. It should not contain the word "system" in the requirement. 

Correct Answer: A 

 

QUESTION 10

A requirement has been identified as beneficial. It will be included in the system if it does not take too long to deliver or
cost too much. How would this requirement be prioritised in the MoSCoW classification? 

A. As a \\'M\\'. 

B. As a \\'C\\'. 

C. As a \\'S\\'. 

D. As a \\'W\\'. 

Correct Answer: B 

 

QUESTION 11

Which of the following diagrams explicitly shows the sequence of tasks? 

A. A swim-lane diagram. 

B. A use case diagram. 



C. A business activity model. 

D. A class model. 

Correct Answer: A 

 

QUESTION 12

Which of the following represents the total cash flows of an investment, over a period of time, adjusted to reflect the time
value of money? 

A. The Internal Rate of Return. 

B. The Time to Payback. 

C. The Net Present Value. 

D. The Return on Investment. 

Correct Answer: C 
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